Assembly Instruction

Attention: Please don't tighten the screws completely and go back later for a final tightening of all the screws
after pieces are aligned with each other. If the screws are tightened initially, subsequent hole positions may be
misaligned.

If you have product questions, you may contact manufacturer at: lizevinchelp@outlook.com

Page 1/9




Page 2/9



AutoCAD SHX Text
Assembly Instruction

AutoCAD SHX Text
Page 2/99

AutoCAD SHX Text
X2

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X1010

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X44

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X88

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X22

AutoCAD SHX Text
 X22


Hardware arts

i if g > g g TJ# EU#

M6*12 M6*15 M6*45 M8*20 M8*55 M4*16

5
(A) 22pPCS (B) 20PCS (©sprcs (D)14PCS E)7pPcs (F) 2PCS G)1PC H)1PC

s

G)1PC (®)1PC (7norcs 2PCS (@ 1pPC

Part list

N

Crash pads

S

2PCS 2PCS @7 1PC 18 2PCS

Page 3/9



AutoCAD SHX Text
Assembly Instruction

AutoCAD SHX Text
Hardware arts

AutoCAD SHX Text
Part list

AutoCAD SHX Text
Page3/99

AutoCAD SHX Text
2PCS

AutoCAD SHX Text
M6*1212

AutoCAD SHX Text
22PCSPCS

AutoCAD SHX Text
8PCSPCS

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
M6*1515

AutoCAD SHX Text
20PCSPCS

AutoCAD SHX Text
14PCSPCS

AutoCAD SHX Text
M6*456*45*4545

AutoCAD SHX Text
M8*2020

AutoCAD SHX Text
1PC

AutoCAD SHX Text
4#

AutoCAD SHX Text
M4*1616

AutoCAD SHX Text
1PCSPCS

AutoCAD SHX Text
5#

AutoCAD SHX Text
2PCS

AutoCAD SHX Text
1PC

AutoCAD SHX Text
1PC

AutoCAD SHX Text
1PC

AutoCAD SHX Text
2PCSPCSS

AutoCAD SHX Text
7PCSPCS

AutoCAD SHX Text
M8*558*55*5555

AutoCAD SHX Text
2PCSPCSS

AutoCAD SHX Text
2PCSPCSS

AutoCAD SHX Text
1PCPC

AutoCAD SHX Text
1PCPC

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
1PCPC

AutoCAD SHX Text
1PCPC

AutoCAD SHX Text
10PCSPCS

AutoCAD SHX Text
Crash pads

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
4PCSPCS

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
8PCSPCS

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
2PCSPCS

AutoCAD SHX Text
1PCPC


Step:1 {mmm
Me*x45 C X8PCS

44 GX1PC

Step: 2

AV A W ¥
X AW
=
AN X =
AN 7,

{m
vexio A X12PCS

[ 44 G X 1PC

(\\\,\

Please don't tighten the screws completely and go back later for a final tightening of all the

screws after pieces are aligned with each other.

Page 4/9




Step: 3

Please pay attention to the
direction arrow in the illustration
to avoid reverse installation

Step: 4

{

No pre-drilled holes in board!!

Please directly screw F

B % 2pcs D X 8PCS
M4*16 M8*20
0 H X 1PC
o#

(self-drilling screws)into the board

Please don't tighten the screws completely and go back later for a final tightening of all the

screws after pieces are aligned with each other.

Page 5/9




E X 3PCS

D X6PCS

I

M8*20

Step: 5

Please don't tighten the screws completely and go back later for a final tightening of all the

screws after pieces are aligned with each other.

Page 6/9




Step: 8

There is a small sealing pocket in the package.
There are two crash pads in the sealing pocket.

As shown in the figure below.

lE Crash pads

Please tear off

the surface
sheet and stick

anti sticking
the
anti-collision
cushion on it

Page 7/9

X 20PCS

{rm
M6*15 B

Step: 7




A X10PCS

{m
M6*12

3

WL T

IR

Step: 11

]

_]

_]L

F
==

N

NN\
K X #\II
| # ,
INY \

Step: 10



AutoCAD SHX Text
Assembly Instruction

AutoCAD SHX Text
M6*156*15*1515

AutoCAD SHX Text
 X10PCS10PCSPCS

AutoCAD SHX Text
X 1PC

AutoCAD SHX Text
4#

AutoCAD SHX Text
Step:99

AutoCAD SHX Text
Step:1010

AutoCAD SHX Text
Step:1111

AutoCAD SHX Text
Page 8/98/9

AutoCAD SHX Text
B

AutoCAD SHX Text
F


Step:12

/.

Page 9/9



AutoCAD SHX Text
Assembly Instruction

AutoCAD SHX Text
Page 9/99/9

AutoCAD SHX Text
Step:1212


